

Date: 11/15/2023

Region: 4A

CSS No.: 95366

FAC ID: NY126

Maximo WO No.: 14276

Asset #: NA

Priority: Routine



Original Work Request:

Repair the interior lights in the training building supply area to include the vault light.

Description of Repairs Needed:

Labor and material to a.) replace 18 ballast and 110 t5 bulbs, 1 emergency fixture over the vault entrance and test them all for proper operation

Labor	Labor Hrs	Labor Rate	Total
Technician	40	\$ 100.00	\$ 4,000.00
		\$ -	\$ -

Material List:

	Quantity	Cost	Total
Strip 4000K LED: 45 W Max. Fixture Watt, 4000K, 5,500 lm, 122.2 lm/W Lumens per Watt	1	\$ 694.47	\$ 694.47
Fluorescent Ballast: T5, 120 to 277V AC, 1_2 Bulbs Supported, 28 W Max. Bulb Watts	18	\$ 66.74	\$ 1,201.33
Linear Fluorescent Bulb: 4 ft Nominal Lg, T5, 28 W Watt, 3500K, 2,900 lm Light Output	120	\$ 14.43	\$ 1,731.77
		\$ -	\$ -
		\$ -	\$ -

Equipment List:

	Quantity	Cost	Total
		\$ -	\$ -
		\$ -	\$ -
		\$ -	\$ -

PM WO History:

NA

Estimate Summary:

Labor	Material	Equipment
\$4,000.00	\$3,627.57	\$0.00

Sub Total	G&A 12%	Fee 6%	Total Estimate
\$7,627.57	--	--	\$7,627.57

Note: G&A and Fee are not applied on top of work performed by Tidewater.



Prepared by:

Tidewater, Inc.
6625 Selkirk Drive, Suite A
Elkridge, MD 21075

Prepared for:

CMI Management, Inc.
5285 Shawnee Road Suite 510
Alexandria, VA 22312-2334

Date: 11/15/2023 CSS #: 95366
FAC ID: NY126 WO #: 14276

DESCRIPTION OF WORK			
Labor and material to a.) replace 18 ballast and 110 t5 bulbs, 1 emergency fixture over the vault entrance and test them all for proper operation			

LABOR	QTY	UNIT/RATE	TOTAL
Technician	40	\$100.00	\$4,000.00
		\$0.00	\$0.00
MATERIAL	QTY	UNIT/RATE	TOTAL
Strip 4000K LED: 45 W Max. Fixture Watt, 4000K, 5,500 lm, 122.	1	\$694.47	\$694.47
Fluorescent Ballast: T5, 120 to 277V AC, 1_2 Bulbs Supported, 2	18	\$66.74	\$1,201.33
Linear Fluorescent Bulb: 4 ft Nominal Lg, T5, 28 W Watt, 3500K,	120	\$14.43	\$1,731.77
		\$0.00	\$0.00
		\$0.00	\$0.00
		\$0.00	\$0.00
EQUIPMENT	QTY	UNIT/RATE	TOTAL
		\$0.00	\$0.00
		\$0.00	\$0.00
		\$0.00	\$0.00
SUB-TOTAL COSTS:	LABOR TOTAL		\$4,000.00
	MATERIAL TOTAL		\$3,627.57
	EQUIPMENT TOTAL		\$0.00
TOTAL COST:			\$7,627.57

Accepted By: _____

Date: _____



